O = RT—MREEYRKRLUI BBER OZEMBFRERMERR

MR EHE RIS ERIE D FHE (BfL:  Sv/h)
H24.6.25|(K)| BEh | 13:40~ 0.03 0.03 0.03 004  |HEART
H25.7.24|(K)| &Y — 0.03 0.03 0.03 004  |WEAHT
H25.7.30|(K)| &Y e 0.03 0.03 0.03 0.04  |#RARI
H25.7.31(()K)| &Y | 1505~ 0.03 0.03 0.03 004 |WARILEE

H25.8.7| (7K) Hgf} 15:10~ 0.03 0.03 0.04 004 [#ATH
H25.8.14|()K) | EEH | 841~ 0.02 0.03 0.04 004 |#EA
H25.821|(k)| &Y | 1510~ 0.02 0.03 0.03 004 [HEAMh
H25.8.28|(k)| HEh | 1427~ 0.03 0.03 0.03 004 [HEATH

H25.9.4{(K)| EEh | 1448~ 0.03 0.03 0.03 004 |HEA
H25.9.11|(K)| EEh | 1518~ 0.03 0.03 0.03 004 [HEART
H25.9.18|(K)| EEH | 15:05~ 0.03 0.03 0.04 004 |HEARRT
H25.9.25|(K)| &Y | 14:35~ 0.03 0.03 0.03 004 |HRART




